
Jumpman 
Filename: jumpman 

Time Limit: 5 seconds 

 
Your friend has designed a new game, Jumpman, loosely based on an old-school game from 
the 1980s with the same name. In his version of the game, your jumpman gets placed on a 
rectangular grid of blocks, where each block has a length and width of 1, but varying heights. 
Your jumpman can only move by jumping to an adjacent block that is either north, east, south or 
west from his current location. Furthermore, while he can jump down any number of units, he is 
limited in how high he can jump. Each block contains some treasure worth varying number of 
points for the game. The goal of the game is to maximize the value of the treasure gathered. If 
you get stuck in the game, your friend has had some mercy on you and will let you move back 
to the original starting. You can use this feature as many times as you want. Given a Jumpman 
game grid, with information about each block’s height and treasure, and your jumpman’s 
jumping limit, determine the maximum value of treasure you can obtain. 

Input 
 

The first line will contain a single positive integer, t, (t ≤ 50), specifying the number of input 

cases.  

 

The first line of each input case will contain a three space separated positive integers r (r ≤ 50), 

c (c ≤ 50), and  j (j ≤ 1000) representing the number of rows in the game grid, the number of 

columns in the game grid and the maximum number of units your jumpman can jump, 

respectively. 

 

The second line of each input case will contain two space integers x (1 ≤ x ≤ r ), and  y (1 ≤ y ≤ 

c), representing the 1-based row and column of your jumpman’s starting location. 
 
The following r lines will contain c space separated integers each. The jth integer on the ith line, 

hi,j (0 ≤ hi,j ≤ 10000), represents the height of the block in row i, column j. 

 
The last r lines of each input case will contain c space separated integers each. The jth integer 

on the ith line, vi,j (1 ≤ vi,j ≤ 100000), represents the value of the treasure in row i, column j. 

 

Output 

 
For each input case, output the maximum amount of treasure your jumpman can obtain. 

 
  



 

Samples 
 

Input Output 

2 
3 4 3 
2 3 
10 5 8 7 
2 9 1 0 
3 8 2 9 
80 70 90 30 
13 43 56 66 
19 12 7 8 
3 3 1 
2 2 
10 3 4 
9 2 5 
8 7 6 
10 10 10 
10 10 10 
10 10 10 

129 
90 

 

 


